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13 910 1,010 1 mé~ 10 m° 85 65
m m 10 m® 1,570 1,560 -10|  -0.6%
20 1,120 1,120 11 m3~ 20 m® 135 135 13
| 25 2,400 2,400 21 m®~ 30 m® 240| 240 3 .
s s £ 20 m 2,920 2,910 -10| -0.3%
30 4,300 4,300 31 m~ 100 m 290| 255 §%
fig | 40 10,000 | 11,000 101 m®~ 3000 m° 290| 265 =2 3
10 m 1,780 1,670 -110|  -6.2%
50 45000 | 50,000| 3,001 m3~ 10,000 mS 290| 275 0
75 95,000 | 115,000 | 10,001 m3~ 240 230
H m 20 m3 3,130 3,020 -110] -3.5%
100 | 200,000 | 250,000
150 | 400,000 | 500,000 5
10 m 1,760 1,660 -100| -5.7%
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i 40 250 m°3 78,400 73,000 -5,400] -6.9%
75 2,500 m3 815,900 773,250 -42,650[ -5.2%
150 | 25000 m3| 6,895900| 6,665,750 -230,150| -3.3%
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